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4.3/4.4 Solve Quadra‘hc Equations & Functions by Facfomng

SOLVE- Find all the ROOTS of the following EQUA 'ITONS

1. z —32—54=0
(-2 D= O

2-A=20 TBBEYG=0

Z. 3¢? +12=-15¢
2 (c* v+ S +\\ =0
2 LC_*\BQQ__-\-‘—\B:Q

'5‘-750 o \=0 L= O

3. 2m’=14m

o= ~20
o= 7]
\Q,““E

4., 2x°+7x-156=0

ax® +\Ox=-3X -\S =Q

(ZrT ~ O * CBx-SD=0

5. Bx*-3x+3=-2x"+3

IxE-%x =

*x (% -BD=Q

X=C) T7%x=-3=0
TR = R

=

=

S = 2Zx—-% =0

e
6. 1lx*=44

SRty =0

W (xF-D=0

Wo(xr 25 (x-D=0

W+ O **Z=0 X =-2=Q
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SOLVE- Find all the ZEROS of the following FUNCTIONS.

List the x-intercept(s), too.

7. y=12x*-39x+9
O = \2xE=FA% *A

o= 2(AxE-\3% "fEJB oc=\z
Lo ; _ o==2
-z, -\

vy Sy AnesTE .
(%2 -2 D~ Q—\x*&}
W (e =2+ k-

=DA%
O= 2 (%~ (U -0
7 = “x-\=Q
eros: =3, w= &

tercept '
\x\m ercepts: (g > (%, B

x-intercepts: (=,o> (\ ,0\
M

8. g(x)=4xa—25
O=uxt-25
o= (zx+5X{(Zx-3)

2 +5=Q Zx—5=
o 'Z‘;L::LS

_ =5,
%= "= =3

P

Q

9. y=4x* _—12x+8
O= AxZF-\Zx *¥
o= 1 (&= 3% 42D

O=u (R (-
w~Z2 = X=-\=Q
X=2 = %=\

NEO

Zeros: K = 2( X =\

10. f(x)=2x2—3x—9

O = ZxE-GX +EZ% -7

O= (Zx&- oy st—c‘%

O = zx (x=-DHA(L
Q= (w~D(2x% -\-35
X~-2=0 Zx*x32=0

[ A

i

=3

| Zeros: =3 = ":

\x-m'rercep'rs: (g_(DB L—é_‘___’ )

E :

.

f(x): 9x? +24x +16

O = Ax? +zax v\
*petRech g4 et Aninamie)

o = (=% *“\>(3x+'—k§

xR =Q 3&“"‘\:@
v =- 2x o= =hi
. =~
X=™g =%

[ - inTe.r_'cest : (_ 2 : C‘B\/

- ?_X'Z. s 3’\*—-—‘5\ o= "\%‘,_ o=

-, 3

p—

y=3x*+6x-9
Q—_-. gxz—k Cax-i
Q= g,b&-»Zm-SS

= & 0% +3)QA-\S

ZEO X42=0 X~\=Q
_ -

WZeros: K=-3 xX=\

x-intercepts: (-3,3y (1, Q)
\/\/\_.—\
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Show all work to receive full credit. Mark answers clearly. Good luck!

Simplify each radical expression.

1. \45 2. A T2 3. j—é 4.\/1—-8
ﬁfg {30 E G e
: i 2110
35 2 E © g
) =t
e
>
Solve each radical equation.
6. x*=100=0 7. x2=20=0
g = r x==> 05
Nl
8. 9x* —7=21 9. 5x* —12=4x" +4
> :Q_% 4 > =\l
x> =2% x = = (i
a Lm0 L
Y = @ - ’t%ﬁ W= Fd
T 5
10. (x+1)* =49 ) ’_-'Q_Er 11. {e=3)"=27
N %~z = TN
x_s,_'\: “‘m _+ X—BETHE
& A=
e
X o s Ee
12. 3(x+4)2-12=0 = = ’2’G

B(xau)? =1

(xau)” =4 L
q“f'\f:\ / )g,:'.';l






